Please problem 3 as simply as possible with step by step solution without skipping steps and give answer. Problem continues on next page. Note, some answers are given to confirm.  Explain answers.   
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The speed of a vehicle is 3.56 meters per seconud. Select from
the list below all of the answers which express that speed
and which ave formatted so that CAPA can judge the an-
swer [* means multiply. “means rajse to a power. / means
divide]. (Entering the NUMERICAL VALUE and the UNIT
of a quantity: The numerical value is entered with NO blank
spaces. Then put in a space. Then enter the desired unit.)
Indicate properly formatted answers.

Choices: Correct. Incorrect.
AL 356 m*st-1
B. 3.56E2 cin/s
C. 3.56F2 cin*s -1
D. 3.56 ms™-1
E. 3.56m/s
F. 3.56 m/s

Tries 0/99

Answer for Part: 0
Correct
Correct
Correct

Incorrect
Incorrect
Correct

A gas cylinder is being filled. The density of the gas in the
cylinder is increasing at the rate of 0.0047 kilograms per meter
cubed per second. Select all of the answers, by entering True
or False, which express that rate and which are formatted so
that the computer can judge the answer,

Choices: True, False,
A 4.7 gxm~-3xs"-1
- 4.7E-6 gxcm"-3*s~-1
-7E-6 g/(cm"3%s"1)
0047 kg/m"~3%s"1
.7 g¥cm™-3%s™-1

B
C
D.
E
F -0047 kg*m~-3xs~-1

O B O B

Tries 0/99

Answer for Part: 0
True

True
True
False
False
True
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(hrwe2p102) On average. a blink lasts about 104 ms. How
far (in m) does a Mi(25 “Foxbat™ fighter travel during a
pilot’s blink if the plane’s average velocity is 2180 mph?

Tries 0/99

1.01E+02 [97. 710976430976, 103.817912457912]
Unit: m
e L

(hrwe2pl2) If a particle’s position is given hy

X =4-13t 4 32

(where t is in seconds and x is in meters), what is its velocity
att = 1.0 s7

Tries 0/99

Is it moving toward (increasing,decreasing) X just then?
A. increasing
B. decreasing

Tries 0/99

What is its speed just then?

Tries 0/99

Is the speed (Iarger,smaller) at much later times?

A. smaller

B. larger

Tries 0/99

At what time is the velocity equal to zero ?

Tries 0/99
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What is the position at this time?

Tries 0/99

Answer for Part: 11

~7.00 [-6.78787878787879,-7.21212121212121]

Unit: m/s

Answer for Part: 13

false

true

Answer for Part: 15

7.00 [6.78787878787879,7.21212121212121]

Unit: m/s
Answer for Part: 17
false
true

Answer for Part: 19

2.17 [2.1010101010101,2.23232323232324]

Unit: s

Answer for Part: 21

(hrwe2pl06) A high-performance jet plane, practicin.
avoidance maneuvers, is in horizontal flight 45.0 m abc

level ground. Suddenly, the plane encounters terrain
slopes gently upward at 5.30°, an amount difficult to dev
(see the figure). How much time does the pilot have to max
a correction to avoid flying into the ground ( s)? The speed
of the plane is 1350 km/h. -

Angle

| |

Tries 0/99

Answer for Part: 0 7
1.29 [1.26436297775442,1.33276066386408]
Unit: s

-1.01E+01 [-9.77777777777774,-10.3888888888889]

Unit: m

(hrwc2p42) A startled armadillo leaps upward (see the fig-
ure), rising 0.524 m in 0.190 s. What was its initial speed?





